Using Common Core Tools to simulate shooting a 1 and 1 and winning the game.

Open the program and choose the “simulation” screen.

To simulate a situation with only 2 choices, choose “build”, then “Distribution events” and finally, “random binomial”

A binomial event only has 2 choices, success or not success.  In this case, she makes each shot or she misses (not success).  The default setting is Binomial n = 100 & p = 0.5, which means that the simulator will have a 100 shots with a probability of success at 50% for each of those shots.  We will change the n to 1 (so we can see each shot as it happens) and the p to .6 for her 60%.  If the shot is successful, the simulator will record a 1.  If not, it will record a zero.  To make those changes, double click on the entry.  You will now see entry boxes where you can alter the numbers to 1 and 0.6.

We are interested if, when she has a 1 and 1 situation, our player can win the game.  So we will have to add another binomial simulation.  Go through the same steps as before so that you have 2 identical commands in your simulation model.  If you were to run the simulation now, you would have the result of her shooting 2 free throws.

Another thought would be that for her to win the game, she has to make both points (and a total of 2).  We can ask the simulator to add her results together to quickly see whether she won the game by doing the following:

Hold shift key down and highlight both entries and then under “Build” choose “add”.  A new command will appear. Then run the simulation.  A sum of “2” means that both shots were made and the game was won.

What does the 1 mean and what does the zero mean?

Can we count the number of times we will win the game?  Can the simulator do it for us?

Highlight  (Binomial n = 1 & p = 0.6 + Binomial n = 1 & p = 0.6), select “build”  and “Count # of”.

Double click on number “trials” to change to 100 and then click on “2” to select what is being counted (2 means that both shots were made).  When it is run, it will count how many 2’s occured in 100 simulations.  Run this several times and observe how many times out of 100, the player wins the game. What do you observe about the results?  You may want to continue running the simulation and also to turn on the graph of the results.

[bookmark: _GoBack]According to the 60% probability, how many times would you have suspected the player would win the game out of a 100 times?  Why?  How does this compare with your simulation results?


